2024 AT 20|AF UBHS|H 28
2N =28
HM: ZHO AIQ(YEHDTHE/ L)
chel: =30 22 (Chol: ®2l)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
=R 939,652 899,005 40,647
SO A (LBID I/ ALEE) 761,440 726,196 35,244
=30 22| 257,840 222,596 35,244
AR 7,700 7,700 0
201 L2 A 7,700 7,700 0
02 222 7,700 7,700 0
Od=2 sX&eld| 1,500,000 %1 A! 1,500
OLE)| 2 &H| RXIE24H]
200, 00024 *6CH 1,200
Ot S| 5,000
— 2852 2,000,0002 *2CH 4,000
—=SXIXZH(EIIRH) 1,000,000+ 1CH 1,000
EREERE 9,626 9,532 %
101 Q124H| 6,022 5,888 134
04 JIZHHI22ISE % 6,022 5,888 134
OStAHYS el 78,8802 %1 2x702 5,522
OBtHLS 40188 = 500,000 * 14l 500
206 XHEH| 2,564 2,604 A0
01 XHEH] 2,564 2,604 A0
Yoo 7Y 5,000Rx6E+43] 120
Ot KRR 2,444
] 1,7202%200 ¢ 344
—SHAR 3,50021%600 £ 2,100
307 2I2H0| & 1,040 1,040 0
0122 2 3=t 1,040 1,040
Ozl S| 15,0002 +3%* 122 540
O- O AR Zelbl 500,000 %13 500
2Hots QX2 68,040 58,560 9,480
201 L2 A 68,040 58,560 9,480
02 222 68,040 58,560 9,480
OLots MIIR=s 7.,0002%630S+ 12 52,920
OLEots ==2lt| 60, 0002*630S*40/ 100 15,120
SHH 00TV S22 2,640 2,640
201 L2 S 2,640 2,640 0
02 2229 2,640 2,640
oorsgge ooV I3
5,000 *33CH+ 12 1,980
onrsgEHe o0V K24
50,0002 *33CH*40/ 100 660
2E2A5} 34,220 33,750 470
101 Q124 21,774 21,244 530
M IIHR2R2IEES 21,774 21,244 530




M- B3 e9i(3) - HIRAY - BES e
OZNSTH|, H2AXHY|, Hd FHFH 8
78,8802 x5 x4 2 %33] 4,733
OZYAXIRV(TIAY) H2IIIZ = S3FH|
sy 78,880 x5 %22 +335] 2,367
O=E2AGIAI (22, ZFXI22]) oY
78,8802 x4 Hx52%33] 4,733
OJi28 ZAIDILIR 22| o1sel 2,841
—&X 78,8804 % 1H*20U*13] 1,578
—H=ol 2hAl 78,880« x4 2x05| 1,263
OFQE2H U H2Id A ZHD| o8
78,8802x2H»152%33] 7,100
201 L2 A 1,400 1,400
01 Al22:2IH| 800 800
OulF2| #=2ldl 150,000 *2CH*13] 300
OJ2I| HY =Y 2AXt
50,0004 103 500
02 2229 600 600
ORI1IEA Q24I2
50,0002 *6IH A *23] 600
206 M=l 11,046 11,106
1 2] 11,046 11,106
OB 2 ZAX =42 1,280
—HE5 YN 2N P
20,0002*35+33] 180
—EHl £ HIZ P
10,0002 x40 L +23] 800
—XE3 e 20,0002 *3Z+53] 300
O2FFHEA HAE7 7Y
20,0009 x25%23] 80
OZHID| REMH 1,7202%300 £ 516
OEHIIIZ 0IFD] 2 2
3,000 %50H 150
OZAIILIR Al=X| 242 2,320
—HE5 YN 2N P
4,0002 %70 %43 1,120
—EHl £ HIZ P
10,000 2460 L *23] 1,200
OZAILIR 7€ 10,0002 %1002 1,000
OEH=0| S RA(AAIHR)
5,000 *6000H 3,000
OCHAM 220 ZTHAHY 2,700
=% 2 3,0002+2g*250H 1,500
—EHl £ HIZ P
10,0002 *60 E *23] 1,200
O F=OINXNEH 29 8,900 8,900
201 LEH2 S| 8,900 8,900




2N 28
NI ZH0 A (LEISDHY/LLE)
tel: S8d 2l (Crol: X 21)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
01 AF22t2IHI 2,400 2,400 0
OFCIRXIME A2E 22 2
200,000 128 2,400
02 2229 6,500 6,500 0
O2222 2 HMAl 6,000
—&JIes 400,000 %122 4,800
—AtGlAT, M3, Seddsz
100,000 128 1,200
OS2 L AIEZH |SXI24H|
500,000 * 141 500
BN NP 126,714 101,514 25,200
204 Z24 Y| 2,400 2,400 0
02 SHALHHI 2,400 2,400 0
ONSEHE32a 100,000 x> T« 122 2,400
301 YeHEAS 124,314 99,114 25,200
07 S& - 0% - BHESEEAZ 117,690 92,490 25,200
OO0 &% 109,440
== 400,000+ 18 * 122 86,400
—d0l=s 400,000 * 1824 %200% 14,400
—3|o| At
20,0002 %182 12&*23| 8,640
Oprag 50,0002%57Y 2,850
O0ISZ SalHl X
25,0002 122~ 18H 5,400
11 BAFAIHIXI 22 6,624 6,624 0
O2lgsiot £9| S 3|Q&AT 34
8,000&*54% 122 5,184
OXIHRES Al L20iH| 24 & F2AHH|
90,0002 x8H %23 1,440
ATRD FOIHAALA 503,600 503,600 0
ARD FOIHIALY 503,600 503,600 0
401 AlEHI L2 0HH 503,600 503,600 0
01 Al&H] 500,000 500,000 0
OARL Z=RIHOIAIY 500,000
—S4H2I HH2=2 HHIBAH
150, 0002 % 180m 27,000
—S42] HH42 HHIZA
150, 0002 % 170m 25,500
— L3R SREXTA
250,000 %118m 29,500
—28 12| Hia=2 HHIBAH
150, 0002 % 180m 27,000
—Q822| Hiz=2 HHIBA
150, 0002 % 180m 27,000
— Q32| AIHAH|ZAL
350,000 *75m 26,250




SN 280
M S0 A (LT TUE /AP
T ARD FOIEOIALY (crol: mie)
SA - EHH . E(BH) - HRAY - BES Ol &k e HIDS2
—28ie] &2 SUlZAt
150, 0002 *180m 27,000
—HE12] 42 MHIBA
150,00024* 180m 27,000
—OHE22] Bh42 HHIZA
150, 00024 % 180m 27,000
—&HE2l AEHIZ AL 350,000 75m 26,250
—Su1el a2 MIBA
150, 0002 * 160m 24,000
—SFEPR| SREFTA
250,00024*100m 25,000
— XMl 42 HHIBA
150,00024*170m 25,500
— xR A2 MHIBA
150,00024*170m 25,500
—CX32] B2 HHIBA
150,00024* 170m 25,500
—5HE12] AFHEHIZA
350,0002+70m 24,500
—otE2e] 42 MHIBA
150, 00024 % 150m 22,500
—5HE32| AFHEHIZA
800, 0002 *45m 36,000
—CRFEE2 U HL2 FHIZA
120,00024*100m 12,000
—C29 QEL2 M
10,000,000 %1 4! 10,000
03 Al 3,600 3,600 0
OARD FOIBAUAY AlLSOH
3,600,00021% 14! 3,600
HY2HAY(SSH)(IIEHIIE 178,212 172.809 5.403
NEEETT 68,458 67,315 1,143
REEETT 68,458 67,315 1,143
101 Q124H] 68,458 67,315 1,143
01 24 68,458 67,315 1,143
OAZtel 24
11,319R* 14236 A| 2+ 122 68,458
EET 109,754 105,494 4,260
JI=3H8l 109,754 105,494 4,260
201 Yet2 Ay 46,754 44,294 2,460
01 AfRZel| 36, 150 33,690 2,460
O=AEA 78 20,0002 * 158t Ax 12 3,600
OS2 1A 8,000R1+541x 158+ 122 7,200
Ogite=g 100,0002* 122 1,200
OAr2 TM-EH 50,0002+ 122 600
OAE 4] 7.200




2N 28
NI HYSHAY|(ZSSH)(JIEHIIE
&l J|12ah] (cHol: M)
S - EHH - SR(E) - HRAIR - B ofl e e imE=T
—=A0| =2 500,000+ 1CH 500
—HelEd] el 100, 00024 *4CH#50/100 200
—SAP| EYH 200,000 %53 1CH 1,000
—ZRIED| El(EW)
200, 0002 %53 *4CH 4,000
—ZRIHIIEH(ZY)
200,000 %33 1CH 600
—PC =l 100,000 % 15CH*20/100 300
—JIE 22/t] 50,0002* 122 600
OJ|EF AFR2EIH] 10,000+ 153 * 122 1,800
O - =AY 14,550
-2 60,0002 % 1Z* 119 7,140
—=% 30,0002 * 1247 7,410
02 222 10,604 10,604 0
ORER=3 135,000 % 12 1,620
OFAL 2222 < HMAl 8,984
—&AMN &3S 630,000 %12 7,560
—M)| HHFY 42
100,0002 %23 200
—ABIAER2 70,0002* 122 840
—FEUE AEZ 32,000 122 384
202 Ot 50,400 48,600 1,800
01 2LH0IH 50,400 48,600 1,800
OZ2Liodtl 20,0002+ 15H* 122U+ 128 43,200
OZ2l0ib| 120,000 % 152 x4 7,200
203 REZIH| 10,200 10,200
01 J |22 AR 6,600 6,600 0
OBZE J|H2AAREZAIH|
6,600,0002* 1% 6,600
02 HADIA LRI 600 600 0
OF A AREEIY] 40,0002 %15% 600
M4 2NSHAREAI 3,000 3,000 0
ORAN2ILREEIY| 250,000 * 12 3,000
204 Z 24 AHH| 2,400 2,400 0
01 ZHZ AR5 AH| 2,400 2,400
OXHZ AR AY| 2,400
-9 150,000 % 12122 1,800
—SHE 50,0002 % 1 * 122 600




